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9. BUSINESS LEVEL STRATEGIES

QUESTION - WISE ANALYSIS OF PREVIOUS EXAMINATIONS
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SECTION 1: THEORY FOR GLASSROOM DISCUSSION
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MICHAEL PORTERS 5 FORCES MODEL OF COMPETITION ANALYSIS

Q.No.1. Explain Michael Porter's Five Forces Model of Competition Analysis.
(A) (OLD PM, RTP- M14, N15, N18, N0O9S - 10M, N11- 3M, N12 - 3M, MTPM19, M18, N18, M18 - 5M)

MEANING: It is a powerful and widely used tool for systematically diagnosing the principal competitive
pressures in @ market and assessing their strength and importance. The model states that the state of
competition in an industry is the combination of competitive pressures operating in five areas of the overall
market. The five forces together determine industry attractiveness/ profitability.

These five forces are:

1) THREAT OF NEW ENTRANTS: A firm's profitability will be higher when new firms are blocked from
entering the industry. New entrants can reduce an industry’s profitability by adding new production
capacity leading to increased supply of the product at a lower price which can reduce the firm'’s existing
market share. To discourage new entrants, existing firms can try to create entry barriers.

COMMON ENTRY BARRIERS INCLUDE:

a) Capital Requirements: When a large amount of capital is required, new firms lacking funds can’t
enter, thus enhancing the profitability of existing firms in the industry.

CA INTER | STRATETIC MANAGEMENT | 44E 5.1



PIONEER FOR MEC / CEC TO CA/ CMA FINAL m

2)

3)

4)

5)

b) Economies of Scale: Economies of scale refer to the decline in the per-unit cost of production (or other
activity) as volume grows. A large firm with economies of scale can discourage new entrants. (N18-2M)

¢) Product Differentiation: It refers to the physical or perceptual differences, or enhancements, that
make a product special or unique in the eyes of customers. The cost of creating genuine product
differences may be too high for the new entrants.

d) Switching Costs: To succeed in an industry, new entrant must be able to persuade existing
customers of other companies to switch to its products. Buyers often incur substantial financial
(and psychological) costs in switching between firms. When such switching costs are high, buyers

are often reluctant to change.

Smarter Choice

e) Brand Identity: The brand identity of products or services
offered by existing firms can serve as another entry barrier.

f) Access to Distribution Channels: The unavailability of
distribution channels for new entrants poses another
significant entry barrier.

g) Possibility of Aggressive Retaliation: Sometimes the Intel & AMD are the two major players
in the micro processors market

mere threat of aggressive reta//ag‘/on by existing players can globally. Though they are in the 1% &
prevent entry of new firms into an industry. 2" places, the gap between the two is

BARGAINING POWER OF BUYERS: enormous with Intel clearly in the lead
* in the global market.

a) This force will become heavier depending on the
possibilities of the buyers forming groups or cartels. Mostly, this is a phenomenon seen in
industrial products.

b) Buyers of an industry’s products or services can soug%imes exercise considerable pressure on
existing firms to secure lower prices or better servic@ is can be seen when

i) Buyers have full knowledge of the sources @d@@and their substitutes.
ii) They spend a lot of money on the ind@’s

they are big buyers. OV
iii) The industry’s product is not p%@e@ critical to the
buyer’s needs and @ @

iv) Buyers are more concen @ tr%;? firms supplying the

product.
Al ler i. j fc
BARGAINING POWER OF SUPPLIERS: Suppliers can influence /" (0", & betier Substitite for

the profitability of an industry in a number of ways. Suppliers can
command bargaining power over a firm when:

ucts i.e.

a) Suppliers’ products are crucial to the buyer and substitutes are not available.
b) Suppliers can create high switching costs.
c) Suppliers’ market is more concentrated than their buyers market.

RIVALRY AMONG EXISTING FIRMS: Theintensity of rivalry in an industry is a significant determinant
of industry attractiveness and profitability. Rivalry among competitors tends to be cutthroat and industry
profitability low when:

a) An industry has no clear leader.

b) Competitors in the industry are numerous.

c¢) Competitors operate with high fixed costs.

d) Competitors face high exit barriers.

e) Competitors have little opportunity to differentiate their offerings.
f) The industry faces slow or diminished growth.

THREAT OF SUBSTITUTES: A final force that can influence industry profitability is the availability of
substitutes for an industry's product. For example, introduction of digital fimless cameras virtually
replace the film cameras and threatened the existence of Eastman Kodak and Fuji Film. Further, the
introduction of smart phones has replaced cameras to a great extent.
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STEPS: The steps to determine competition in a given industry are:

Step 1: Identify the specific competitive pressures associated with each of the five forces.

Step 2. Evaluate how strong the pressures from each of the five forces are: (a) Fierce, (b) Strong, (c)
Moderate to Normal or (d) Weak.

Step 3: Determine whether the collective strength of the five competitive forces is conducive to earning
attractive profits or not.

INDUSTRY
COMPETITOR

RIVAL AMONG
EXISTING FIRMS

IRMS IN OTHER
INDUSTRIES
OFFERING
SUBSTITUTE
PRODUCTS

SIMILAR QUESTIONS:

1. Rahul Sharma is Managing Director of a company which is man uring trucks. He is worried about the entry of new

businesses. What kind of barriers will help Rahul against such at? o [RTPM19]

A. Rahul Sharma is worried about the entry of new business %@ling barriers will help him to face such a threat.+

Write THREAT OF NEW ENTRANTS point in the above a
2. Economies of scale discourages new entrants. [M18-2M]

A. Correct: Economies of scale leads to decline in #}§€\per- ost of production (or other activity) as volume grows. A large
firm that enjoys economies of scale can preddce hio volumes of goods at successively lower costs|. This tends to

discourage new entrants. § >
3. Discuss in what conditions rivalry among ¢ petit@ends to be cut-throat and profitability of the industry goes down. [N19-5M]

A. Refer RIVALRY AMONG EXISTING FIRMS point in the above answer.

4. Industry is a composite of competitive pressures in five areas of the overall market. Briefly explain the competitive
pressures. (N11 - 3M)

A. Refer above answer.

5. How the new entrant affects the competition? (OLD PM)

A. Refer 1t point in the above answer.

6. Explain the factors that affect the strength of competitive pressures from substitute products. (OLD PM, N12 - 3M)

A. Refer 5t point in the above answer.

7. Discuss the Porter's model for systematically diagnosing the significant competitive pressures in a market.  (RTP M14)

A. Refer above answer.

8. Define Five Forces Model (RTP M12)

A. Refer meaning in the above answer

9. Porter’s five forces model considers new entrants as a significant source of competition.

A. Porter’s five forces model considers new entrants as major source of competition. + write 1st point as given in the above
answer (no need to write entry barriers). (OLD PM)

10. What are the common barriers that are faced by new entrants when an existing firm earns higher profits? (RTP M18)

A. Refer 1t point in thw above answer.
11. Buyers can exert considerable pressure on business. Do you agree? Discuss.[RTP N19]
A. Refer Bargaining power of Buyers in the above answer.
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12. Explain Porter’s five forces model as to how businesses can deal with the competition. (SM, RTP N18, MTP N18)

A. To gain a deep understanding of a company’s industry and competitive environment, managers do not need to gather all
the information they can find and waste a lot of time digesting it. Rather, the task is much more focused. + write the
meaning above + write the following:

a) Competitive pressures associated with the market manoeuvring and jockeying for buyer patronage that goes on
among rival sellers in the industry.

b) Competitive pressures associated with the threat of new entrants into the market.

¢) Competitive pressures coming from the attempts of companies in other industries to win buyers over to their own
substitute products.

d) Competitive pressures stemming from supplier bargaining power and supplier - seller collaboration.
e) Competitive pressures stemming from buyer bargaining power and seller - buyer Collaboration.

MICHAEL PORTERS GENERIC STRATEGIES

Q.No.2. Write short notes on Michael Porter’s Generic Strategies.
(A) (OLD PM, M10 - 10M, RTP M12, M15, N16)

According to Michael Porter, Generic or basic strategies allow organisations to gain competitive advantage from
three different bases as stated below. These strategies have been termed generic because they can be pursued
by any type or size of business firm and even by not-for-profit organisations.

COST LEADERSHIP: Emphasizes producing standardized products at a very low per-unit cost for
consumers who are price-sensitive. It allows a firm to earn higher profits than its competitors.

DIFFERENTIATION: It is a strategy aimed at producing uniggie products and services and directed at
consumers who are relatively price-insensitive. &

FOCUS: It means producing products and services thg@fl%%needs of small groups of consumers. It
involves selecting or focussing a market or custom
segment in which to operate.

FACTORS INFLUENCING A FIRM _TO CHOQSE
PARTICULAR GENERIC STRATEGY: Depengh
factors such as type of industry, size of firm ang

competition, a company can select an apg
among the above generic strafegic alterQgt

SIMILAR QUESTION:

1. Competitive advantage can be achieved by an organisation
at business level by following generic strategies proposed by Porter covering three different bases .What are they?

A. Refer the above answer.

COST LEADERSHIP STRATEGY

Q.No.3. Write short notes on Cost Leadership Strategy? (A) ‘l

1) Itis alow cost competitive strategy that aims at broad mass market.

2) It requires vigorous C®namieforesih by rsuit of cost reduction in the areas of
procurement, production, storage and distribution of product or service
and also economies in overhead costs.

3) Due to its lower costs, the cost leader is able to charge a lower price for
its products than its competitors and still make satisfactory profits.

4) For example, McDonald’s fast food restaurants have successfully

) in 2004, Nirma’
followed low cost leadership strategy. n 2004, Nirma's defergent

approached 800,000 tonnes

5) This strategy is effective when the market is composed of many price-  — one of the largest volumes
sensitive buyers, when there are few ways to achieve product so’gi;”gltgigzgq/g”‘r’gg?ra
differentiation, when buyers do not care much about differences from '
brand to brand, or when there are a large number of buyers with significant bargaining power.
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6) The basic objective of this strategy is to underprice competitors and thereby gain market share and
sales, driving some competitors out of the market entirely.

7) In a ‘Low Cost Leader company there will be high efficiency, low overheads, limited perks, intolerance
of waste, intensive screening of budget requests, wide spans of control, rewards linked to cost
containment, and broad employee participation in cost control efforts

8) Some risks of cost leadership strateqgy are

a) Competitors may imitate the strategy, thus reducing the overall industry profits;
b) The technological breakthroughs in the industry may make the strategy ineffective;
¢) Buyer interest may shift to other differentiating features in addition to price.

SIMILAR QUESTION:

1. A primary reason for pursuing forward, backward, and horizontal integration strategies is to gain cost leadership benefits. In
this context write a short note on cost leadership strategy.

A. Refer answer above.

Q.No.4. How to achieve Cost Leadership Strategy? (B) ‘l

To achieve cost leadership, the following actions have to be taken by a firm:

1) Forecast the demand of a product or service promptly.

2) Optimum utilization of the resources to achieve cost advantage.

3) Achieving economies of scale which leads to lower per un@ost of product/service.

4) Standardization of products for mass production to yiel cost per unit.

5) Investin cost saving technologies and try using ady. t@mology for smart working.
6) Resistance to differentiation till it becomes necesgg#y. &

SIMILAR QUESTION: O

1. Achieving cost leadership strategy requires ce --“
List out the ways to achieve the cost leadershi .@

A. Refer above answer. @

ostsaving and other measures to be followed by the organisations,

Q.No.5. What are the Advantages and Disadvantages of Cost Leadership Strategy? (A) (RTP M18) ‘l

ADVANTAGES OF COST LEADERSHIP STRATEGY: Cost leadership strategy may help the firm remain
profitable even in the presence of: existing rivalry, new entrants, supplier's bargaining power, substitute
products, and buyers’ bargaining power.

1) Existing Rivalry: Competitors are likely to avoid a price war, since the low cost firm will continue to
earn profits.

2) Buyers: Powerful buyers/customers can’'t exercise their bargaining power over the cost leader firm
and will continue to buy its product.

3) Suppliers: Cost leader firms can absorb greater price increases of raw materials.

4) New Entrants: Low cost leader firms can create entry barriers to new entrants through their
continuous focus on efficiency and reduction of costs.

5) Substitutes: Low cost leaders can successfully persuade customers to stay with their product.
DISADVANTAGES OF COST LEADERSHIP STRATEGY
1) Cost advantage may not remain for long as competitors can copy or follow cost reduction techniques.

2) A firm can succeed with this strategy only if it can achieve higher sales volume.

3) Cost leaders tend to keep their costs low by minimizing advertising, market research, and research
and development, but this approach is not suggested in the long run.

4) Technology changes are a great threat to the cost leader firm.
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SIMILAR QUESTIONS:

1. Wirite short notes on the advantages of Cost Leadership Strategy. (RTP M18, MTP1 N18)
A. Refer advantages in the above answer.

2. Cost leadership strategy offers advantages to handle competition based on Porter’s five forces of competition framework.
Elucidate.

A. Refer advantages in the above answer.

L

No strategy is an all-time right strategy. Hence cost leadership strategy has its own fair share of disadvantages. Elucidate.
A. Refer disadvantages in above answer.

DIFFERENTIATION STRATEGY

Q.No.6. Write short notes on Differentiation Strategy? (A) ‘l

1) This strategy involves producing unigue products and services and charging a premium price,
targeting consumers who are relatively price-insensitive.

2) The uniqueness can be associated with product design, brand image, features, technology,
and dealer network or customer service.

3) Successful differentiation can mean greater product flexibility, greater compatibility, lower costs,
improved service, less maintenance, greater convenience, or more features.

4) Differentiation strategy should be pursued only after a careful study of buyers’ heeds and preferences
to make a unique product.

5) A successful differentiation strategy allows a firm to char
customer loyalty because consumers may become stron

higher price for its product and to gain
tached to the differentiation features.

cl Buperior service, spare parts availability,
mjd% e, or ease of use.

6) Special features that differentiate one’s product ¢
engineering design, product performance, useful@

%ique product may not be valued high enough
happens, a cost leadership strategy easily will
rsuing a differentiation strategy is that competitors
atures quickly. For Example, Amazon Prime offers

e difficult to imitate by its rivals, and thus this
market

7) A risk of pursuing a differentiation strategy ig
by customers to justify the higher prioe.
ti

defeat a differentiation strategy. Anothe#pisk

may develop ways to copy the diffe ati

delivery within two hours. This\is
differentiating factor helps it to lead t

BASIS OF DIFFERENTIATION: There are several basis of differentiation: product, pricing and organization.

1) Product: Innovative products that meet customer needs can be an
area where a company has an advantage over competitors.

2) Pricing: Companies that differentiate based on product price can
either determine to offer the lowest price, or can attempt to establish
superiority through higher prices.

3) Organisation: Organisational differentiation is yet another form of
differentiation. Maximizing the power of a brand, or using the specific

advantages that an organization possesses can be instrumental to a Surf Excel is the premium quality
com pany's success. detergent brand of HUL with its
communication theme ‘Dirt is Good".
SIMILAR QUESTION:

1. Differentiation strategy should be pursued only after a careful study of buyers’
needs and preferences to determine the feasibility of incorporating one or more differentiating features into a unique
product that features the desired attributes. In this context write about differentiation strategy.

A. Refer above answer.

Q.No.7. How to achieve Differentiation Strategy? (B) ‘l

To achieve differentiation, the following measures should be adopted by an organization.

1) Offer utility for the customers and match the products with their tastes and preferences.
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2) Elevate the performance of the product (Superior Performance).

3) Offer the promise of high quality product/service for buyer satisfaction.

4) Rapid product innovation.
5) Taking steps for enhancing image and brand value.

6) Fixing product prices based on the unique features of the product and
buying capacity of the customer.

SIMILAR QUESTION:
1. Discuss differentiation strategy? How is it achieved?  (MTP M18,N19-5M,RTPM 19) Mercedes Benz is the world'’s
. . most prestigious brand and its
A. Refer 1, 2 & 3 points in the answer of Q.no.6 + refer Q.no.7. positioning strategy is based on
differentiation.
Q.No.8. What are the Advantages and Disadvantages of Differentiation Strategy? (B) ‘l

ADVANTAGES OF DIFFERENTIATION STRATEGY: Differentiation strategy may help a firm remain
profitable even in the presence of: existing rivalry, new entrants, suppliers' bargaining power, substitute
products, and buyers' bargaining power.

1) EXISTING RIVALRY: Brand loyalty acts as a safeguard against competitors. It means that customers
will be less sensitive to price increases, as long as the firm can satisfy the needs of its customers.

2) BUYERS: They do not negotiate for price as they get special features and also they have fewer
options in the market.

3) SUPPLIERS: Because differentiators charge a premiu -/‘ 2e, they can afford to absorb higher costs
of supplies and customers are willing to pay extra too

4) NEW ENTRANTS: Innovative features are an exps % ve ¥ So, new entrants generally avoid these
features because it is tough for them to provide «’gﬁ ‘oduct with special features at a comparable

price.
5) SUBSTITUTES: Substitute products can' @? g@erentlated products which have high brand value

and enjoy customer loyalty.
DISADVANTAGES OF DIFFERENTIA S'I%TEGY
1) Inlong term, uniqueness is dlfflculx?ci suggln

2) Charging too high a price for differentiated features may cause the customer to switch to another
alternative.

3) Differentiation fails to work if its basis is something that is not valued by the customers.

SIMILAR QUESTIONS:

1. A century-old footwear company “Mota Shoes” had an image of being the footwear choice for formal occasions. In an
attempt to reinvent its brand, it tied up with foreign footwear giant “Buffrine” to manufacture and sell its Hideseek brand
in the country. Putting its best foot forward, it launched extra soft, casual and relaxed footwear for young. Aiming at a
brand and image makeover the “Mota Shoes” decided to price the Hide Seek products at premium. What kind of Michael
Porter business level strategy is being used by “Mota Shoe company”? State its advantages. .[RTPN19]

A. Mota shoes is trying to use differentiation. This strategy is aimed at broad mass market and involves the creation of a
product or service that is perceived by the customers as unique. The uniqueness can be associated with product design,
brand image, features, technology, dealer network or customer service. Because of differentiation, the business can
charge a premium for its product.+ Write Advantages of Differentiation Strategy in the above answer.

2. A differentiation strategy may help to remain profitable even with rivalry, new entrants, Suppliers’ power, substitute
products, and buyers’ power. Explain. [RTPM20]

A. Refer advantages in the above answer.
Differentiation strategy offers advantages in view of Porter’s framework of Competition Analysis. Comment.
A. Refer the advantages in the above answer.

«

Copyrights Reserved To MASTER
MINDS GOMMERGE INSTITUTE PUT.LTD.
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FOCUS STRATEGY

Q.No.9. Write short note on Focus Strategy. (A) ‘l

1) Focus strategy involves producing products and services that fulfill the needs of a narrow market that
consists of consumers whose needs and preferences are distinctively different from the rest of the market.

2) An organization using a focus strategy may concentrate on a particular group of customers,
geographic markets, or on particular product - line segments in order to serve a well - defined but
narrow market better than competitors who serve a broader market.

3) A successful focus strategy depends on an industry segment that is of
a) sufficient size,
b) has good growth potential, and
¢) is not crucial to the success of other major competitors.

4) Midsize and large firms can effectively pursue focus-based strategies only in conjunction with
differentiation or cost leadership-based strategies.

5) Focus strategy is most effective when consumers have distinctive preferences or requirements and
when rival firms are not attempting to specialize in the same target segment.

6) Risks of pursuing a focus strategy include the possibility that numerous competitors will recognize the
successful focus strategy and copy it, or that consumer preferences will drift toward the product
attributes desired by the market as a whole.

7) TYPES OF FOCUS STRATEGY: There are two varia@@of Focus Strategy, namely Focused Cost
Leadership and Focused Differentiation strategies. S
d

o
a) Focused Cost Leadership Strateqy: It invoIv m@\@% based on low price and targeting a narrow
market. Firms that compete based on price ’Q‘.', ar arrow market are following this strategy. A firm
that follows this strategy does not necess w@% lowest prices in the industry. Instead, it charges

& within the target market.

t
b) Focused Differentiation Strategg: os offering unique features that fulfill the demands of a
on uniqueness and target a narrow market are following
example, Rolls-Royce sells limited number of high-end,

a focused differentiation strats
custom-built cars.

Q.No.10. How to achieve Focus Strategy? (B) ‘l

To achieve focus strategy the following are the following measures have to
be adopted by an organization:

1) Selecting specific niches which are not covered by cost leaders
and differentiators.

2) Creating superior skills for catering to such niche markets.

3) Generating high efficiencies for serving such niche markets. Harley — Davidson concentrates only on
the super — heavy weight motors cycles
; ; ; ; i i market. It does not produce small street

4) Developing innovative ways in managing the value chain. bikes or oftroad bikee.

Q.No.11. what are the Advantages and Disadvantages of Focus Strategy? (B) ‘l

ADVANTAGES OF FOCUSED STRATEGY:
1) Premium prices can be charged by the organisations for their focused product/ services.

2) Due to the tremendous expertise about the goods and services that organisations following focus
strategy offer, rivals and new entrants will find it difficult to compete.

CH.5 — BUSINESS LEVEL STRATEGIES | 44E 5.8



MASTER MINDS COMMERCE INSTITUTE PUT. LTD. WWW.MASTERMINDSINDIA.COM | 98851 25025 / 26

DISADVANTAGES OF FOCUSED STRATEGY:
1) The firms lacking in distinctive competencies may not be able to pursue focus strategy.

2) Due to the limited demand of product/services, costs are high which can cause problems.

3) In long run, the niche could disappear or be taken over by larger competitors by acquiring the same
distinctive competencies.

BEST- COST PROVIDER STRATEGY

Q.No.12. Write short notes on Best- Cost Provider Strategy (A) (OLD PM, N12 - 1M) ‘l

1) Best Cost provider strategy is a further development of 3 generic strategies i.e. Cost Leadership,
Differentiation and Focus Strategies.

2) Best - cost provider strategy involves providing more value for money to the Customers by
emphasizing low cost and better quality difference. It can be done in any of the following 2 ways:

a) By offering products at lower price than what is being offered by rivals for products with
comparable quality and features.

b) Charging similar price as that of rivals for products with much higher quality and better features.

3) The objective is to keep costs and prices lower than those of other sellers of comparable products.

4) For Example, android flagship phones from OnePlus, Xiaomi, Oppo, Vivo, etc, are all rooting
for giving better quality at lowest prices to the customers. They are following the best-cost
provider strategy to penetrate market.

<2

Lower Cost Differentintion
A Broad rearali Low Broad
Cross-Secton | Cost Leadership Differentiation
of Buyers Strategy Strategy
‘ / Best-Cost
| Provider |
Yoo Strategy -/
& Narmower ; Fooused
Buyer Seqgment fggﬁgﬁi Differentiation
{or Market Stratay Blrategy
Niche) Py Company's
SIMILAR QUESTIONS:
1. Explain the meaning of ‘Best cost provider strategy’. (N12 - 1m)

A. Refer 2" point in above answer.

2. Consumers always prefer best products at cheaper prices. What is the strategy to be followed by organisations to suit the
consumer aspirations?

A. Refer the above answer.

Q. No.13. What are the situations under which the three generic strategies can be used?
(C) (For Students Self - Study)

SITUATIONS UNDER WHICH THESE GENERIC STRATEGIES CAN BE USED ARE:

1) COST LEADERSHIP: When the market is price-sensitive and much room is not left for differentiation. Cost
leadership is a better option when buyers do not care much about differences between the brands.

2) DIFFERENTIATION: This strategy is suitable when the customers are attracted to specific attribute(s)
of the products. It is directed towards creating separate market with a product_with different
attribute(s). The strategy is useful in a perfectly competitive market where all the products look similar.
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3) FOCUS: Smaller firms may compete on a focus basis. When the customers have distinctive preferences or
requirements and the rival firms are_not attempting to specialise in the same target segment.

SIMILAR QUESTIONS:

1. Michael E. Porter has suggested three generic strategies. Briefly Explain them. What is the basic objective to follow a
generic Strategy? In what situations can the three strategies be used?

Refer 2nd question + above question

(RTP M16)

2. According to Michael Porter, strategies allow organizations to gain competitive advantages from different bases. Explain

these bases as mentioned by Porter.

Refer 2nd question + write above answer.

2. Distinguish between cost leadership and differentiation strategies.

(M13 - 3M)

[MTP J20,N20][RTPN20]

SECTION 2: FOR ACADEMIC INTEREST ONLY

Q.NO.1 What are the distinctive features of the generic competitive strategies?

© |

Distinctive Features of the generic competitive strategies are given below:

Strategic A broad cross — | A broad cross | Value — conscious | A narrow market niche
Target section of the | section of the market | bugsr where buyer needs
market @ and preferences are
é> distinctively  different
Q @O from the rest of the
A{@ & market
Basis of | Lower costs than | An ability $€%0ffefIMore value for the | Lower cost in serving
competitive | competitors buyers Z@O money the niche (focused
advantage differen m low cost) or special
com rs § attributes that appeal
@ N to the tastes or
@ requirements of niche
members (focused
differentiation)
Market Try to make a | Build in whatever | Either under price | Communicate how
emphasis vitue out of | features buyers are | rival brands with | the focuser's product
product features | wiling to pay for | comparable features | attributes and
that lead to low | charge a premium | or match the price of | capabilites aim at
cost price to cover the |rivals and provide | catering to niche
extra cost of | better features to | member tastes and /
differentiating build a reputation for | or specialized
features delivering the best | requirements.
value
Sustaining | Offer economical | Communicate the | Develop unigue | Remain totally
the strategy | prices / good | points of difference in | expertise in | dedicated to serving
value Aim at | credible ways simultaneously the niche better than
contributing to a | Stress constant | managing costs | other competitors; don'’t
sustainable cost | improvement and use | down and up | blunt the firm’s image
advantage the | innovation to stay | scaling features and | and efforts by entering
key is to manage | ahead of initiative. | attributes other segments or
costs down, year | Competitors adding other product
after year, in| concentrate on a few categories to widen
every area of the | differentiating features; market appeal.
business. tout them to create a
reputation and brand
image.
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Productline | A good basic | Many product | Good - to - | Features and
product with few | variations, wide | excellent attributes. | attributes that appeal
frills (acceptable | selection, strong | Several —to — many | to the tastes and / or
quality and | emphasis on | upscale features. special needs of the
limited selection) | differentiating target segment.

features.

Product A continuous | Creation of value for | Incorporation of | Tailor — made for the

emphasis search for cost| buyer, strive for | upscale features | tastes and
reduction without | product superiority and attributes at low | requirements of niche
sacrificing cost members.
acceptable
quality and
essential features

APPLICATION ORIENTED QUESTIONS

Q.NO.2 Sohan and Ramesh are two friends who are partners in their business of making biscuits.
Sohan believe in making profits through selling more volume of products. Hence, he believes in
charging lesser price to the customers. Ramesh, however of the opinion that higher price should
be charged to create an image of exclusivity and for this, he proposes that the product to undergo
some change. Analyse the nature of generic strategy used by Sohan and Ramesh.

1) Considering the generic strategies of Porter there are three different bases: cost leadership,
differentiation and focus.

2) Sohan and Ramesh are contemplating pricing for their t.

3) Sohan is trying to have a low price and high vol is thereby trying for cost leadership. Cost
leadership emphasizes producing standardized pri S ery low per unit cost for consumers who

are price sensitive.

(, P %and charge higher prices. He is trying to adopt
oducts and services considered unique industry wide
nsensitive.

4) Ramesh desires to create perceived value fgg

Qe

N <
Q.NO.3 Infant care is a successful éﬁ%re @ain that caters products for expectant mothers and new
moms. They offer everything from nursing classes to strollers, toys, infant clothes, diapers and
baby furniture. Due to a one-stop shop for infants, they are charging a premium for its products.
Identify and explain how the strategy adopted by infant care. [MTPJ19]

Infant care is opting for differentiation strategy. A one-stop shop is a benefit for this type of customers,
seeking convenience in a time. Infant care is catering the products only related to infants that are
perceived by the customers as unique. Because of differentiation, the Infant care is charging a premium
for its product.

Q.NO.4 Eco-carry bags Ltd., a recyclable plastic bags manufacturing and trading company has
seen a potential in the ever-growing awareness around hazards of plastics and the positive
outlook of the society towards recycling and reusing plastics. A major concern for Eco-carry bags
Ltd. are paper bags and old cloth bags. Even though they are costlier than recyclable plastic bags,
irrespective, they are being welcomed positively by the consumers. Identify and explain that
competition from paper bags and old cloth bags fall under which category of Porter’s Five Forces
Model for Competitive Analysis? [RTP M20]

Eco-carry bags Ltd. faces competition from paper bags and old cloth bags and falls under Threat of Substitutes
force categories in Porter's Five Forces Model for Competitive Analysis. Paper and cloth bags are substitutes of
recyclable plastic bags as they perform the same function as plastic bags. Substitute products are a latent
source of competition in an industry. In many cases, they become a major constituent of competition. Substitute
products offering a price advantage and/or performance improvement to the consumer can drastically alter the
competitive character of an industry.
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Q.NO.5 Baby Turtle is a children's clothing brand that has been created a new age demand for
washable diapers. The major benefit for the brand has been that not many companies have shown
interest in the product, thinking it is not viable, however, customers, majorly working mothers are
loving their product. The core material needed for production is also used in many other water
proofing products in various industries. Baby Turtle sources this material from a renowned
supplier at comparatively low prices. Which of the five forces of competitive pressure would Baby
Turtle experience due to above setup and what are major factors that create such pressure for a
product? Do you think Baby Shark has an advantage in some way to fight off this pressure?

1) Baby Turtle would experience, Bargaining Power of Suppliers, as a competitive pressure for their
washable diaper product.

2) This is because the core material for production is sourced from a single supplier, who is renowned
and in a position to create pressure in terms of prices.

Further, other factors that lead to such pressure are:

a) Their products are crucial to the buyer and substitutes to the material required for production are
not available.

b) Suppliers can manipulate switching cost as the brand is in inception stage and making margins are
important.

3) An advantage that Baby Turtle has is even though the material required has no substitutes but it used
to make many other products and thus there are many other suppliers who can provide that material.

4) It might affect operations in short term but will help to fight off the pressure created by existing supplier.
(A

Tz

Z
nts brand which targets high spending
§Igs range from rupees fifteen thousand

Q.NO.6 Domolo is a premium cycles and cycling equi
customer with a liking for quality and brand name. T
to rupees one lac. The recent trend of fitness t
demand for cycles and peripherals like helmet;

ling has created humongous ("en°meus)
aking systems, fitness applications, etc.

The customer base has grown 150% in the | onths Mr. Vijay, who is an investor, wants
to tap in this industry and bring about c};@ ions to people who cannot spend so much.
Which business level strategy would r Mr. Vijay’s idea and what are the major sub-
strategies that can be implemented to ug aximum market?

The Best Cost Provider strategy Woulﬁns@ a better reach to the not so affluent customers and provide
them with good quality cycles and equipment, thus tapping in on the increasing trend of cycling.

Two sub-strategies that can be implemented are:
1) Offering lower prices than rivals for the same quality of products
2) Charging same prices for better quality of products

The idea of Mr. Vijay is to provide almost same quality of products in terms of functionality if not so in
terms of branding, to customer who do not have huge sums of money to pay.

Thus, sub-strategy number one, offering lower prices for almost same quality should be implemented to
become the best cost provider of cycles and related equipment in the market.

Q.NO.7 Coffee Beans’ is a coffeehouse chain that operates across the globe in different countries.
‘Coffee Beans’ has adopted a strategy to build business by establishing product uniqueness or
qualities and gain competitive advantage based on features of its offerings in coffee business.
Which type of strategy ‘Coffee Beans’ has adopted? [MTP N19]

Coffee Beans is opting for differentiation strategy.

This strategy is aimed at broad mass market and involves the creation of a product or service that is
perceived by the customers as unique.

The uniqueness can be associated with product design, brand image, features, technology, dealer
network or customer service.

Because of differentiation, Coffee Beans can charge a premium for its product.
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Q.NO.8 Distinguish between Cost Leadership and Differentiation Strategies. ‘l

1) Cost leadership emphasizes producing standardized products at a very low per unit cost for
consumers who are price-sensitive.

2) Differentiation is a strategy aimed at producing products and services considered unique
industry wide and directed at consumers who are relatively price-insensitive.

3) A primary reason for pursuing forward, backward, and horizontal integration strategies is to
gain cost leadership benefits.

4) But cost leadership generally must be pursued in conjunction with differentiation.

5) Different strategies offer different degrees of differentiation. A differentiation strategy should
be pursued only after a careful study of buyers’ needs and preferences to determine the
feasibility of incorporating one or more differentiating features into a unique product.

6) A successful differentiation strategy allows a firm to charge a higher price for its product and
to gain customer loyalty.

Q.No.9. Identify the type of generic strategy used in the following examples.
1) Dell Computer has decided to rely exclusively on direct marketing.
2) “Our basic strategy was to charge a price so low that microcomputer makers couldn’t do the
software internally for that cheaply”.
3) ‘NDTV’, a TV channel has identified a profitable audience niche in the electronic media and
exploited that niche through the addition of new channels like NDTV ‘Profit’ and ‘Image’.
(C) (OLD PM, M10)

1) DIFFERENTIATION: Dell Computers is differentiating duct delivery. Computer market is highly
competitive and the products are very similar.

o

2) COST LEADERSHIP: Keeping the prices low g a rocomputer makers acquire the software
rather than developing themselves is a case of&gst | ship.

3) FOCUS: NDTV has identified a profitable g ce niche) and is focusing on it.

severe competition and aggressiv themselves with each other. Luxury Jet is a private
Delhi based company with a fleet sizé of 9-small aircrafts with seating capacity ranging

Between 6 seats to 9 seats. There aircrafts are chartered by big business houses and high net
worth individuals for their personalized use. With customized tourism packages their aircrafts are
also often hired by foreigners. Identify and explain the Michael Porter’s Generic Strategy followed
by Luxury Jet. (B) (RTP N20 , M18)

4
Q.No.10. Airlines industry in Indi%&h é%mpetitive with several players. Businesses face

1) The Airlines industry faces stiff competition. However, Luxury Jet has attempted to create a niche
market by adopting focused differentiation strategy. A focused differentiation strategy requires offering
unique features that fulfill the demands of a narrow market.

2) Luxury Jet compete in the market based on unigueness and target a narrow market which provides
business houses, high net worth individuals to maintain strict schedules. The option of charter flights
provided several advantages including, flexibility, privacy, luxury and many a times cost saving. Apart
from conveniences, the facility will provide time flexibility. Travelling by private jet is the most
comfortable, safe and secures way of flying your company’s senior business personnel.

3) Chartered services in airlines can have both business and private use. Personalized tourism packages
can be provided to those who can afford it.

Q.No.11. Analyse the following cases in the context of Michael Porter’s Five Forces Model:

1) A supplier has a large base of customers.

2) A manufacturer of sports goods has the advantage of economies of large scale production.

3) Products offered by competitors are almost similar. (B) (NEW SM)

1) Large base of customers of an organization (supplier) may increase its bargaining power in
comparison to the bargaining power of the customer.
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2) The manufacturer of sports goods would be in better position amongst existing competitors since it
has advantage of economies of scale. Even the threat of new entrants gets reduced.

3) Similar products will reduce the bargaining power of the rivals, i.e., competitors. In other words the
bargaining power of the customer will be more.

Q.No.12. Gennex is a company that designs, manufactures and sells computer hardware and
Software. Gennex is well known for their innovative product that has helped the company to have
advantage over its competitors. It also spends on research and development and concerned with
innovative softwares. Often the unique features of their product, that are not available with their
competitors helps them to gain competitive advantage. Gennex using the strategy is consistently
gaining its position in the industry over its competitors. Identify and explain the Porter’'s generic
strategy which Gennex has opted to gain the competitive advantage. (B) [MTPM19] (RTP N18)

1) According to Porter, strategies allow organizations to gain competitive advantage from three different
bases: cost leadership, differentiation, and focus. Porter called these basic or generic strategies.

2) Gennex has opted differentiation strategy. Its products are designed and produced to give the
customer value and quality. They are unique and serve specific customer needs that are not met by
other companies in the industry. Highly differentiated and unique hardware and software enables
Gennex to charge premium prices for its products hence making higher profits and maintain its
competitive position in the market.

3) Differentiation strategy is aimed at broad mass market and involves the creation of a product or
service that is perceived by the customers as unique. The uniqueness can be associated with product
design, brand image, features, technology, and dealer netwgork or customer service.

7\

SECTION 3: TEST Yllllli I(IIIIW[EI]EE

1) Explain why is cost-leadership strategy veryékénv M country like India?

2) Can a low- cost leader firm make its oyaI to its products/services? Substantiate your
answer with proper reasoning

3) List out the various national and gIo é? $ WhICh are successfully pursuing differentiation strategy?
o

4) |s differentiation strategy apt for an“edu
is 'yes’.

nal institution? Explain with some examples if your answer

5) What are ‘No-frills’ airlines? List out the various no-frills airline companies operating in India.

6) Wil it be ok for Rolex, if it introduces watches in the economy range of Rs.700 - Rs.2,000 under the
same brand name?

THEEND
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